Nelson County Textbook Purchasing Plan for 2009 Bloomfield Elementary

School Name: Bloomfield Elementary

District Number: 451

School Number: 013

Grades: P1 - 5th

Enrollment: 412

Adoption Group IV: 2009 - 2010

Content Area(s): Math

Names and titles of persons responsible for the development of the plan:

- Utona Bieber: Principal
- Mikki Brady: Guidance Counselor
- Tim Beck: Curriculum Resource Consultant/GT services
- Anne Cox: 4th/5th Teacher
 Amy Rucci: Art Teacher
- Dana Brown: 1st Teacher

After meeting with all grade levels, the school textbook coordinator (Tim Beck) made the recommendation to the SBDM that Bloomfield Elementary should use the allotted textbook monies to replace textbooks from the presently adopted programs.

STATEMENT OF ACCOUNTABILITY

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the Program of Studies learning goals and academic expectations for the 2009 – 2010 adoption cycle.

School Council Members' Signatures:	
Hell Log	
Daxa R Brown	
Chine & Coc	
aus Ruf R.	
Utara Bielse School Council Chair	4 21 00 Date

Nelson County Textbook Purchasing Plan for 2009 Cox's Creek Elementary

School Name: Cox's Creek Elementary

District Number: 451

School Number: 050

Grades: PK - 5th

Enrollment: 449

Adoption Group IV: 2009 - 2010

Content Area(s): Math

Names and titles of persons responsible for the development of the plan:

Jan Lanham: Principal

Amy Jo Sims: 2/3 teacher x\sqrt{5}

Clara Fulkerson: Curriculum Resource Consultant

■ Scarlett Coy: 4th/5th Grade Teacher

Jennifer Hutchins K/1 Grade Teacher

The recommendation to the SBDM of Cox's Creek Elementary is that we should use the allotted textbook monies to replace textbooks from the presently adopted program and to purchase consumable math resources (student books and practice pads.

STATEMENT OF ACCOUNTABILITY

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the Program of Studies learning goals and academic expectations for the 2009 - 2010 adoption cycle.

School Council Members' Signatures:

School Council Chair

Nelson County Textbook Purchasing Plan for 2009 OLD KY HOME MIDDLE

School Name: Old KY Home Middle

District Number: 451

School Number: 090

Grades: 6th-8th

Enrollment: 456

Adoption Group IV: 2009 - 2010

Content Area(s): Math

Names and titles of persons responsible for the development of the plan:

Ryan Clark: Principal

Paige Wood: Assistant Principal

Shelly Tucker: Curriculum Resource Consultant

Berry Alcorn: 6th Grade Teacher
 Michael Reinle: 7th Grade Teacher
 Leonard Abell: 8th Grade Teacher

After meeting, the school textbook committee has decided that they are waiting for next year to purchase textbooks. The committee discussed the fact that the state math standards were being revised. They would like for those standards to be made available before they make a textbook decision. Also, with textbook funds being low they would like to wait and see if more money becomes available next year for textbook purchases. They would also like more time to review different texts since they were not able to do so this year due to confusion of the availability of textbook funds.

STATEMENT OF ACCOUNTABILITY

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the Program of Studies learning goals and academic expectations for the 2009 – 2010 adoption cycle.

School Council Members' Signatures:	

School Council Chair

Date 5/12/09

Nelson County Textbook Purchasing Plan

Date: April 15, 2009

COVER PAGE

School Name: New Haven School

School Number 011 District Number 495

Grades K-8 Enrollment 443

Adoption Cycle IV 2008 Content Area: Math

Names and titles of persons responsible for the development of the plan:

Dana Hines, Middle Grades Math Teacher

Amy Mouser, Intermediate Teacher

Pam Baker, Middle Grades Math Teacher and Library Media Specialist

Amy Adams, Intermediate Teacher

Cindy Phelps, Principal

DETAILED PURCHASE PLAN FOR TEXTBOOKS One completed form for each vendor

Vendor Name: McGraw Hill/Wright Group

Address: 220 East Danieldale Road

DeSoto, Texas 75115

Phone: 1-800-648-2970

Fax: 1-800-593

ISBN	Unit Cost	Quantity	Total Cost
9780076045341	12.60	48	604.80
9780076226757	185.85	2	371.70
9780076045532	30.45	40	1218.00
9780076226764	230.40	2	460.80
9780076187980	217.05	2	434.10
9781570399510	630.45	2	1260.90
9780076045662	30.45	40	1218.00
9780076226771	230.40	2	460.80
9780076187980	217.05	2	434.10
9781570399541	630.45	2	1260.90
9780076045815	30.45	60	1827.00
9780076226788	230.40	2	460.80
9780076187980	217.05	2	434.10
9781570399572	566.01	2	1132.02
	9780076045341 9780076226757 9780076045532 9780076226764 9780076187980 9780076045662 9780076226771 9780076187980 9781570399541 9780076045815 9780076226788	9780076045341 12.60 9780076226757 185.85 9780076045532 30.45 9780076226764 230.40 9780076187980 217.05 9780576045662 30.45 9780076226771 230.40 9780076187980 217.05 9781570399541 630.45 9780076045815 30.45 9780076226788 230.40 9780076187980 217.05 9780076187980 217.05	9780076045341 12.60 48 9780076226757 185.85 2 9780076045532 30.45 40 9780076226764 230.40 2 9780076187980 217.05 2 9780076045662 30.45 40 9780076226771 230.40 2 9780076187980 217.05 2 9780076045815 30.45 60 9780076226788 230.40 2 9780076187980 217.05 2 9780076187980 217.05 2 9780076187980 217.05 2 9780076187980 217.05 2

** State bid prices do not include shipping costs.

**Estimated Freight

Total Cost

Textbook	ISBN	Unit Cost	Quantity	Total Cost
Everyday Mathematics Grade 4 Student Materials Set	9780076046027	30.45	70	2131.50
Everyday Mathematics Kentucky Classroom Resource Package Grade 4	9780076226795	239.40	3	718.20
Everyday Mathematics Games Kit Updated Grades 4-6	9780076187997	217.05	3	651.15
Everyday Mathematics Basic Classroom Manipulative Kit, Grade 4	9781582101293	566.01	3	1698.03
Everyday Mathematics Grade 5 Student Materials Set	9780076052721	30.45	60	1827.00
Everyday Mathematics Kentucky Classroom Resource Package Grade 5	9780076226801	239.40	2	478.80
Everyday Mathematics Games Kit Updated Grades 4-6	9780076187997	2	217.05	434.10
Everyday Mathematics Basic Classroom Manipulative Kit, Grade 5	9781582101316	501.57	2	1003.14
Everyday Mathematics Grade 6 Student Materials Set	9780076052875	30.45	65	819.00
Everyday Mathematics Kentucky Classroom Resource Package Grade 6	9780076226818	239.40	2	371.70
Everyday Mathematics Games Kit Updated Grades 4-6	9780076187997	217.05	2	434.10
Everyday Mathematics Basic Classroom Manipulative Kit, Grade 6	9781582101330	501.57	2	1003.14

Subtotal

\$23,147.88

** State bid prices do not include shipping costs.

**Estimated Freight

S/H @ 9%=

\$2083.31

Total Cost

Total: \$33,147'88 \$25231.19

with Someone from the district driving to get the materials

BUDGET SUMMARY

Revenue:

Current State Allocation: \$17, 615.50 (2009 monies)

Carry-over funds:

(Becomes carry-over on July 1)

Total State Monies: \$17, 147.88

+ 6, 000.00 (Donation from New Haven School PTO)

Categories	Projected Cost
Textbooks	\$23, 147.88
Instructional Materials	
Rebinding & Replacement	
TOTAL EXPENDITURES	\$23,147.88

Projected carry-over funds: \$467.62

Math Purchasing Plan Date: April 15, 2009

School Name: New Haven School

School Number:

STATEMENT OF ACCOUNTABILITY

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the Program of Studies learning goals and academic expectations for the 2008 – 2009 adoption cycle.

School Council Members' Signatures: Pam Balu Somool Council Chair The cost of this plan is within the appropriate	tion for this school.	15, 2009 Date
	-	Data
School Board Chair		Date
In the absence of a school council,	d doals and academi	Cexpectations
School Board Chair		Date
School Board Secretary		Date

Foster Heights' Math Textbook Plan

SCHOOL NUMBER- 070

DISTRICT NUMBER- 451

GRADES- K-5

ENROLLMENT- 700

ADOPTION CYCLE- 2009-2015

CONTENT AREA- MATH

Person Responsible for Plan:

- 1. Donna Paulin- Principal
- 2. Patrice Edelen- Curriculum Resource Consultant
- 3. Colleen Boone- Textbook Chair
- 4. Toni Ice- Textbook Co-Chair

VENDOR- Wright Group (EveryDay Math) Representative- Brian Gossage

Textbook	ISBN	Unit Cost	Quantity	Total Cost
K- My 1 st	9780076045242	9.45	125	1,181.25
Math Book				,,,,,,,,,,
1st- Student	9780076089888	15.75	125	1,968.75
Journals			1	
2nd- Student	9780076089895	15.75	125	1,968.75
Journals	0700070017070			
2nd-	9780076045372	18.90	25	472.50
Reference				
Book 3 rd - Student	0700076000004	45.75	40-	
Materials	9780076089901	15.75	125	1,968.75
4 th - Student	9780076046027	30.45	405	0.000.05
Materials Set	9700070040027	30.43	125	3,806.25
4 th -	9780076226795	239.40	5	1 107 00
Classroom	0100010220133	239.40	5	1,197.00
Resource	×			
Package				
4 th - Games Kit	9780076187997	217.05	5	1,085.25
4 th - Basic	9781582101293	566.01	5	2,830.05
Manipulative				2,000.00
Kit				
5 th - Student	9780076052721	30.45	125	3,806.25
Materials Set	,	2		,
5 th -	9780076226801	239.40	5	1,197.00
Classroom				
Resource				
Package 5th Correct Kit	0700070407007			
5 th - Games Kit 5 th - Basic	9780076187997	217.05	5	1,085.25
Classroom Kit	9781582101316	501.57	5	2,507.85
Ciassiouiii Kil			00///	
			GRAND	25,074.90
			TOTAL	

BUDGET SUMMARY

T						
R	61	Je.	n	11	0	٩

2009-2010 State Allocation	\$11,911.00	
Carry-over from 2008- 2009	\$18,096.04	(both OKHIS & Foster Heights)
Total State Monies	\$30,007.04	
Textbooks Instructional Materials Replacement Total Cost for Materials	\$8,085.00 \$9,902.40 \$7,087.50 \$25,074.90	
Estimated carry-over 2009-20	\$4,932.14	

Statement of Accountability

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the KERA learning goals and the academic expectations for the 2009-2015 adoption cycle.

SCHOOL COUNCIL MEMBERS' SIGNATURES	ext page
School Council Chair	Date
This cost of this plan is within the appropriation for	this school.
School Board Chair	Date

Statement of Accountability

Foster Heights Elementary School and Old Kentucky Home Intermediate School are reuniting with a new school number beginning on July 1, 2009. The current chairs of the OKHIS & FHES Textbook Committees met and reviewed the materials in order to certify that this Textbook/Instructional Material Purchasing Plan implements the KERA learning goals and the academic expectations for the 2009-2015 adoption cycle.

Because we do not have an official SBDM council to make decisions for the 2009-2010 school year, we as joint chairs and the principal, with approval from the superintendent, are recommending this adoption to the Nelson County School Board in order to receive materials and training.

SIGNATURES	
Colleew R. Boone	Date_5/6/09_
Tou Dee	Date $5/6/09$
Jonna G. Paulin, Principal	Date 5/6/09
The cost of this plan is within the appropriate	ion for this school.
School Board Chair	Date